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1 # W= SIRSC/SLE /s 3/ 1 37. 86 108% ( 0.71)
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2 =R B F>hSC N2/ 2 40. 09 9% ( 0.58)
3 BMH R FrkrSC N2/ 1 41.13 8tk ( 0.71)
4 FrH GIRSC/hNEHF /N5 2/ 5 .77 8#% ( 0.67)
5 KIL  HUfF T ET &L N5 2/ T 42. 64 % ( 0.66)
6 A i S AfaE N2/ 6 43.00 % ( 0.60)
S 1 R < S A IRSCHIAR /N4 1/ 7 44.14 8#% ( 0.68)
8 MR EE T TSI /N5 1/ 4 44. 37 6#% ( 0.89)
9 AT E3b JSssknHr /4 1/ 6 46. 52 % ( 0.69)
10 [f e JSS&H /M 1/ 5 47.22 6% ( 0.70)
11 g Jiil JSSeRERYE /M 2/ 3 47. 51 68% ( 0.74)
12 F JEIRAR TR N1/ 3 48. 48 6% (0.71)
13 E¥ K J SSEI /N3 1/ 2 48. 96 8#% ( 0.80)
14 B¢ #Eve S ARME: N1/ 50. 14 58 ( 0.65)
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2 fall HA S ARMTE: 1 3/ 2 33.92 10#% ( 0.66)
3 KIL  REHH TETEI 1 3/ 5 34. 04 108% ( 0.62)
4 TA #EK W. LFE 4% 1 3/ 6 34.82 9%% ( 0.60)
5 AREF{ KA S AT aah! 3/ 8 36. 28 8#% ( 0.65)
6 KA HER IS C N6 3/ T 36. 63 8 ( 0.62)
T OPHEH ORI A — X E M /N6 3/ 9 39. 46 TRk (0.64)
8 /NPE R J S S /N6 2/ 4 39. 91 Tk ( 0.65)
9 WA 5h HEFESC /N6 3/ 0 40. 25 % ( 0.58)
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